1. A missing p-wave indicated what structure is not depolarizing/firing properly thus not
properly depolarizing the atrium?
a. AV node
b. SA node
c. Bundle Branches
d. Perkinje Fibers
2. When left ventricular pressure begins to increase, this will be the driving force to open
what valve?
a. Pulmonary valve
b. Tricuspid Valve
c. Aortic Valve
d. Bicuspid Valve
3. What is CO with the following values: HR: 60 BPM Systolic BP: 120 mmHg, Diastolic:

BP: 80 mmHg, Stroke volume: 60 mL/beat

a. 1.5L/min
b. 2.0 L/min
¢. 3.6 L/min
d. 36 L/min

4. Fluid collecting in the pericardial cavity that restricts movement of the heart is known as?
a. Cardiac tamponade
b. Mitral valve prolapse
c. Pleural affusion

d. Cardiomyopathy



